National & Mathematics APP 1.2 Rig@ur Maths

Outcome 4 - Calculating Magnitude

Bronze example Silver example Gold example
/rf " " -\\ .ff " " -\"\ .r"'r " " _\\
E am Ies_._ **|la| means the E am |€S___ **|la| means The E am Ies._. **|a| means the
xamp magnitude of a.** xamp magnitude of a.** xamp magnitude of a.**
Vector a = (5) e S ( 4 ) Vectora= ( % ) and vector b = ( _74 ) Vectora = ( ? ) and vectorb = ( _32 )
3 -7 5 1 4 0
Calculate |a + b|. Calculate |a + b|. Calculate |4a — 5b|.
To calculate the magnitude of a To calculate the magnitude of a To calculate the magnitude of a
vector: vector; vector;
J(all the components squared /(all the components squared J(all the components squared
and added together) and added together) and added together)
5 4 9 2 7 9 20 15 35
a+b= 7T G+b=(0)*(-4)=(—4) 4a-5b=(4)‘ -10 | =| 14
©+(9)-() 8)+(4)-(2 ) (3)-(x
la+bl=\/8T+16 =97 la+bl=,B81+16+36 — V133 |4a - Bb| =/ 1225 + 196 + 256
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Bronze Questions

Calculate the magnitude for the following vectors...

* Vector ¢ = (2)

Calculate |c|.

§o

Vector h = (%,).

Calculate |h].

Vector m = () and vector n = (%),
Caleulate [m + n].

& Vectorr = () and vector s = (7).

Caleulate |r — s|.

Gold Questions

Calculate the magnitude for the following vectors..

& Vectorc = (3)

7
Caleulate |3c|.

Vector h = ( _41 )
-5

Calculate |Sh|.
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e Vectorm = ( 0 )and vectorn = (_5 )
-6 3

Calculate |3m + 4n|.

0

& Vectorr = ( _13 ) and vector s = ( _25 )
6

Calculate |61 — 2s].
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Silver Questions

Calculate the magnitude for the following vectors...

* Vector ¢ = (8)
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Calculate |c|.
2
& \Vectorh = ( -9 )
-5
Calculate |h].

)

& Vectorr = ( _85 ) and vector s = ( :% )

0 6
Calculate | — s|.

4
oo Vectorm = (_05 ) and vector n = (

Calculate |m + n|.

LI B =

as
o

© Cdmasterworks Ltd 2012



National & Mathematics APP 1.2 Rig@ur Maths

Bronze Answers

1. 10 2. V73

3. V125 = 55 4. \/106
Silver Answers

1. /85 2. 110

3. V33 4. 126 = 3/14

Gold Answers

1. 58 2. V1050 = 542

3. V536 = 2v134 4. /884 = 24221

Vectors © Cdmasterworks Ltd 2012



